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General Instructions :
(i)  All questions are compulsory.

(ii) Questions number 1-5 are of one mark each. The answers to these questions should
not exceed 20 words each.

(iii) Questions number 6-10 are of two marks each. The answers to these questions
should not exceed 40 words each.

(iv) Questions number 11-16 are of four marks each. The answers to these questions
should not exceed 100 words each.

(v) Questions number 17-21 are of five marks each. The answers to these questions
should not exceed 150 words each.

(vi) Question number 21 is a map-based question. Write its answers in your answer-
book.

(vii) Questions number 22-27 are of six marks each. The answers to these questions
should not exceed 150 words each.

L e w SR @ e At Fee § @ w0 9O e
(a) Wﬁ#\qﬁmwﬁﬁw%ﬁaﬁwmmﬁ 1
(b) T Fwior feha forea g o e e e T |
(c) i R TR 9 TER, 1989 F g A ™ |
(@) & T 3 S S 3 TR e |
Which one of the following statements about the Berlin war is false ?
(a) It symbolized the division between the Capitalist and the Communist world.
(b) It was built immediately after the Second World War.
(c) It was broken by the people on 9 November, 1989.
(d) It marked the unification of the two parts of Germany.

2. ofEEM (TUEETT,) WO 6w R ?
Why was ASEAN established ?
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THT § ¥ 31w e B 9@ ¥ i w0 - 5 St v i stean soe oty e e
eI Heet Ao ? 1

Which one of the two is more essential — construction of mega dams or an
environmental movement that opposes it and why ?

T i TR 37 e ) SR e f g et 9 T AR S A 42 24 =

Which two objectives Jawaharlal Nehru wished to achieve through the strategy of
Non-alignment ?

ot SAREH % Walyed S Uge] &I SRR HIT | 1
Highlight the most novel aspect of the Chipko Movement.

¥ g5 i =T <t e S favimrett 1 Seer Fi | 2x1=2
Mention any two major military features of the Cold War.

“TETT TR & T A Dl THT % § 767 3@ & & TSI Bl GHET % T H
U HHEG & 17 379 3H HUT § FEl o7 WEAA ¢ ? 2

“The leaders of the newly independent India did not see politics as a problem; they
saw it as a way of solving the problems.” How far do you agree with the statement ?

et = wet frem i - 4xVi=2
(A) (B)

(a) oI § Uit faamres fafe () =% TPRR

(b) 1974 T IeT8 F TTATT B AGeS fHAT (i)  STAVEHIN AT

(c) TEEHTTEH A MAA TR I FHR (i) ST HANST

(d) e e & ot (iv) =amEgfd TuE. ¥
Match the following : )

' (A) (B)
(a) A politically controversial appointment (i) Charu Majumdar
(b) Led the Railway strike in 1974 (ii) Jayaprakash Narayan
(c) Declined to join Nehru’s Cabinet - (iii) George Fernandes
(d) Died in police custody (iv) Justice A.N. Ray
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9. mﬁwso%mﬁ,%m%@%@ﬁwﬁwwgﬁﬁm%mw o1, e o

1966 T et Fi A T 2 2
While the rest of the country was reorganized on linguistic lines in 1950s, why had
Punjab to wait till 1966 7

10, et e S e R S e o O 2

How was the reorganization of North-East India completed and by when ?

11. ﬁqﬁ%m%#ﬁﬂwaﬂﬁﬁa\ﬂ%mﬂmw@M? 4x1=4

In which four ways did the new economic policy of China benefit its economy ?

1. T e T & T e F (e | 1+3=4

What is Amnesty International ? State its main functions.

13. “afvas doar | T aﬁnm%?ﬁmaﬁwm%fﬁé&wmﬁw%mm
St TEET S T € 2 2+2=4

What are ‘global commons’ ? Why is it said that international cooperation over the

global commons is not easy ?

14. mﬁmqﬁmmmﬁﬁwﬁﬂmﬁ%m%ﬁmwm%?m
it | 4

What distinguished the dominance of the Congress Party in India from other

examples of one party dominance in other countries ? Explain.

15. mﬁﬁfwaﬁsﬂm%ﬁw%mqﬁmﬁmmﬁaﬂmﬁw%ﬁl 4
Critically examine the major outcomes of the Indian model of mixed economy.
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16. 1977 % mE! B ST TR fFE WER 1975 H T T SRS & SR A0 GUE Hl
w1 ¥ f&ar 2 = Sk | 4

How did Janata Party make the 1977 elections into a referendum on the Emergency

imposed in 1975 ? Explain.

17. @ Tg sraeRor @t sqHgE Tigw iR Frefeta vt & 3 i 1+42+2=5

& 3 W Yoltar} srferan # AR U o I 91 | THH e O F 79 AR A

& B T e Pt o | it SRy @t wataf qeaan ot i it @ v welt

wY Frelt Tt BT | 39 Sfenta T ) GuaT & st i st @i & g

A AT H AT WA A | e wE H R CwE F agen iR e

T @ Gt Y e | 5 Gohaur o fendt oft defeuss s A i T S HR TR e

T |

() 2% ¥ & Fefae o oroet e o i ot R ot e e |

(i) |TfE EHE T A T S S a2

(iii) =i FHE drat TR W B TEAT A€ A, @ sriegaen w b F % o
WA TR IS ?

Read the passage given below carefully and answer the following questions :

Each of these countries was required to make a total shift to a capitalist
economy, which meant rooting out completely any structures evolved during this
period. Above all, it meant that private ownership was to be the dominant pattern of
ownership of property. Privatization of state assets and corporate ownership patterns
were to be immediately brought in. Collective farms were to be replaced by private
farming and capitalism in agriculture. This transition ruled out any alternate or ‘third
way’. '
(i) Name any two countries which were required to make a total shift.
(ii) Why were the collective farms to be replaced by private farming ?

(iii) Since the ‘third way’ had been ruled out, what were the only two ways of

controlling the economy ?
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i8. mmmﬁwqﬁﬂmﬁmmﬁ%wﬁﬁm '242+1=5

WW-WWW%%W%WWﬁMﬁmﬁﬁm
& o W A A ¥ 1 g eveRY T R I A TE TR E
T TR STTE gAY TRIETHR T A o ot € | T e FOF YT HH T & A B
i @ &, S HEA ST S T @ a O AN B G T | T T
F Y A TS w0 AT S @ wi fen & o o anférer 3T
WAoo Bl I | SR TS W e o AR s 3R
et = e PR E |
() T H S O S AN IR FIITE T HIT |
(i) “SFEAUTHR T H YRV F & A EATERT T FAWE?

(i) SR fHa e ST T S e e w2
Read the following passage carefully and answer the following questions :

At the most simple level, globalisation results in an erosion of state capacity,
that is, the ability of government to do what they do. All over the world, the old
‘welfare state’ is now giving way to a more minimalist state that performs certain
core functions such as the maintenance of law and order and the security of its
citizens. However, it withdraws from many of its earlier welfare functions directed at
economic and social well-being. In place of the welfare state, it is the market that
becomes the prime determinant of economic and social priorities.

(i) What do the words ‘erosion of state capcity’ imply ? Explain with the help of
an example.

(i) Why is the concept of welfare state giving way to a minimalist state ?

(iii) How has market become the prime determinant of social priorities ?

19. ﬁhmwﬁmﬁ@ﬁﬁ%ﬁmﬁ%w%: 2+2+1=5

WﬁmmwmwmﬁmeqﬁWWle

mmm%%mﬁﬁaﬁwwmﬁﬁmmaﬁaﬁﬁ%%uﬁ@

Thed & uﬁuwmqﬁm%wmwﬂwﬁnﬁﬁrﬁﬁwﬁwmm (

1973 & AR IE FN o1 | TEH o5 ¥ foreey H it % fere FOIHR A G A | A

Tt 3 et & g # W gfE FA A | GRE 39 &9 ¥ g% FHENS § R T | AR

F gETeR g S 9 T |

(i) R 3 ST T SR ORreoT et fepe S 2

(ii) w%wmqﬁmﬁmwmﬁaﬁwﬁaﬁqmﬁmmﬁﬁw
=5 G A § ?

(iii) 1970%m%mﬁﬂ&ammm%mwﬁﬁma§awﬁ
ot 9
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Read the following passage carefully and answer the following questions :

When India conducted its first nuclear test, it was termed as peaceful explosion. India

argued that it was committed to the policy of using nuclear power only for peaceful

purposes. The period when the nuclear test was conducted was a difficult period in

domestic politics. Following the Arab-Israel War of 1973, the entire world was
affected by the Oil Shock due to the massive hike in the oil prices by the Arab
nations. It led to economic turmoil in India resulting in high inflation.

(@)
(ii)

(iii)

When did India conduct its first nuclear test and why ?

Why was the period, when the nuclear test was conducted in India, considered
to be a difficult period in domestic politics ?

Which international event of 1970s was responsible for high inflation in India ?

20. e T T wER w5 A g I ST FrfeEd s % 3 S

59/111

@

(ii)
(iid)

2+1+2=5

SINCE 1989

fer T FREA | FFE AR U=E e B GEEH ST 7o ThE e we o
jigticial

R % VU HAl & &9 H AT 7. 2 F FEH H a9 [TTg e b av?

1989 ¥ wits @ Fratee |, 9 HET U % Aged oot Tt S 1S /4 ot 2
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Study the cartoon given below and answer the following questions :

SINCE 1989

(i Identify any four national leaders from the above cartoon and mention the serial
number of each.

(i) Which was the most controversial issue of the period related to leader No.2 as
Prime Minister of India ?

(i) What was the position of the party led by leader No.l in the Lok Sabha
elections of 1989 ?

A ﬁ%ﬂmmmﬁﬂuﬁmﬁ%mmmm%mw%a
2+1+2=5
(20.1) 1984 3 el T e B e o7 watae Wi Shelt $i frwes e 9 2
(20.2) 1990ﬁt@nﬁﬁﬁm%ﬁ#mwmﬁwﬁMM?
(20.3) P T T 3 T S GURT YO i e e 9 Ao e 2

Note : This following questions are for Visually Impaired Candidates only in lieu
of Q. No. 20.

(20.1) Which party had won the maximum number of seats in Lok Sabha
Elections of 1984 and under whose leadership ?

(20.2) What was the most controversial decision taken by the National Front
Government in 1990 ?

(20.3) Which Prime Minister started the new econormnic reforms and what was
its outcome ?
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In the given political outline map of South Asia, five countries have been marked as
@, ®, @, (D) and (E). Identify them on the basis of the information given below
and write their correct names in your answer book along with their respective serial

number of the information used and the concerned alphabets as per the following

format :

Sr. No. of the information | Alphabet | Name of Country

(i)  Animportant country but it is not considered to be a part of South Asia.

(ii) The country has a successful Democratic System.

(iii) This country has had both Civilian and Military rulers.

(iv) This country had Constitutional Monarchy.

(v) AnIsland nation which was a Sultanate till 1968.

Az FreiEs T dae gheattue whenfeat & fo we wen 21 F TR W
§eiy 2+41+2=5
(21.1) feor ufern & W PP T 39 At fopg o € 2
(21.2) <o e 3 B @ 21 2 & it S SEEE e W 6 2
(21.3) TEF (SAARC) 791 IR (SAFTA) % forega ¥ fafaw |

Note : The following questions are for visually impaired candidates only in lieu of

Q. No. 21.
(21.1) The expression ‘South Asia’ usually includes which countries ?
(21.2) Which two countries of South Asia have successfully operated
democratic system ?
(21.3) Write the full forms of SAARC and SAFTA.

22. mmﬁmwaﬁﬁ%?ﬁwwwﬁqw%ﬁwﬁﬁm

HIT | 3+3=6
SrexaT
wmmﬁwaﬁm%ﬁmﬁagﬁ%ﬂm,aiaﬂ@ﬂnmﬁﬁmnmﬁﬁﬁ

Wm@ﬁﬁmﬁ%mﬁmm?mﬁml 6

Hignlight any three positive and three negative features each of the Soviet system in
the Scviet Union.

OR
How far is it correct to say the international alliances during the Cold War era were
determined by the requirements of the superpowers and the calculations of the
smaller states ? Explain.
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23, WgF TST A F W 9K & T 6T TH6R & @ 9T 2 9H IR, 9Re ¥ sy

= faf= g =1 favetvor #ift | 3x2=6
o

U 5=t A W SR S qeainT B S R W W i e At wen @

T H, TH T €9 37 % o0 soeerdt € | 3x2=6

Analyse the three different views within India about the type of relationship India
should have with the United States of America.

OR

Evaluate any three major factors responsible for making the European Union a
political force from being an economic force.

24. U Tl M SiRiE Rget wee w ol ST R aed rger < S & o/ aedt

9T T feret e w5 | 3x2=6
o _

STET YU i URANE GROT |/ T AT ¥ 2 76 TER F GO F 5 2 et w5 aoty

ST | 2+4=6

Describe any three international challenging issues that can only be dealt with when
all the countries work together.

OR

What is meant by traditional notion of external security ? Describe any two
components of this type of security.

25. 85 H S AEAT ST 9T % SR 9 9T U 1 TS F, TF A 599 F 59

<@ T T $ it g s % R s de ses o i | 3x2=6
sgan .

AT % UTE, ARG AU SR Al S e % Hiee ¥ G genty qe

et & faf=T &=t #1 wieor FifTg | 3+3=6

“The accommodation of regional demands and the formation of linguistic states were
also seen as more democratic.” Justify the statement with any three suitable
arguments.

OR

Examine the different areas of agreement and disagreement with respect to the model
of economic development to be adopted in India after independence.

-
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